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Question Number : 1 Question Id : 2549896429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The multiplication arithmetic operator is represented by which of the following symbols in the C programming language?
Options :

1, % A

2.9 *

3. %/

4. % x

Question Number : 1 Question Id : 2549896429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

C UTTTERT ivdet H U SIHTNg SfoRex 1 Mafafed o ¥ g vdies gRT axifar S g2
Options :

1. % A

2.9 *

3. %/

4, % x

Question Number : 2 Question Id : 2549896436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an example of embedded software based functions?
Options :

1. # Image processing systems found in medical imaging equipment

2. ¥ Internet browsers

3. # Fly-by-wire control systems found in aircraft

4. % Traffic control systems found in traffic lights

Question Number : 2 Question Id : 2549896436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

fafafad § § $H-91 7SS II0edtR (embedded software) STHTRT HTAT BT IETEIUT T81 &2
Options :

1. % fafar SRS Iuw o # Urs SdTelt Sia UERur JulTe!

2. ¢ AT FISIR

3. % fqUM o UIg SHaTl TRiTs-a19-aRR deld RReH

4, % 2fthep ge T UTT o1 aTd ¢ftheh dheld e d

Question Number : 3 Question Id : 2549896890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The keys labeled 0-9 on the computer keyboard are called keys.
Options :

1. % function

2. # gpecial purpose

3. % typewriter

4. ¥ number / numeric

Question Number : 3 Question Id : 2549896890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HR BIEIS TR 0-9 T dTch BieT I FT Bl Sl 62
Options :

1. % HaRH PId

2. % TR YUY Bl

3. % TSR DIl

4, ¢ q8R W (number / numeric) Tl

Question Number : 4 Question Id : 2549896943 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following is the primary output device for a computer?
Options :

1. ¥ Monitor

2. % Printer

3. % Keyboard

4. % Mouse

Question Number : 4 Question Id : 2549896943 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9 & 9§ dger & fore wrufiies sim3leye fSarsa 7 82
Options :

1. ¢ |

2. % fI/R

3. % PlaIS

4, % H3H

Question Number : 5 Question Id : 2549897295 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following operating systems does NOT support New Technology File System (NTFS)?
Options :

1. * Windows NT 4.0

2. % Windows NT 3.5

3. ¥ Windows Me

4. * Windows 2000

Question Number : 5 Question Id : 2549897295 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
frafeied & @ ®F-a sTRfeT Rien =g Saaret Bgd RReH (NTFS) &1 w0 78] vl 82

Options :



1. # Windows NT 4.0
2. % Windows NT 3.5
3. % Windows Me

4. * Windows 2000

Question Number : 6 Question Id : 2549897319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The computer program that allocates the system resources and coordinates all the details of the computer's internals is called the in
UNIX.

Options :

1. % shell

2. % compiler

3. ¥ kernel

4. ® gystem library

Question Number : 6 Question Id : 2549897319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SR UIITH Sl 7 uIelt & Tmeqi &1 fAaa d § 8fR HeR & 3fax & Gyt faarun &) g9-afdd #d 8, 3= gHad (UNIX) |
HEI ST g |

Options :

1. % Qq

2. % HIEAY

3. ¢ Bd

4. % ey drgsi

Question Number : 7 Question Id : 2549897589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

is the computer memory that is accessible to the central processing unit of a computer without the use of computer's input/output
channels.



Options :

1. ¥ Primary storage
2. # Secondary storage
3. # Flash memory

4. ¥ USB memory

Question Number : 7 Question Id : 2549897589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

; S TART § Off TR & $7Yc/3M3cYe I-dl & SUINT & foT fohdlt Her & Yed TR gfHe & [l Igd aig (accessible)
|
Options :

1. ¢ TSI TR
2. % Y WS
3. % TR HARY
4. % USB HHERI

Question Number : 8 Question Id : 2549897626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Which of the following computer generation uses the concept of artificial intelligence?
Options :

1. # Fourth Generation

2. % Second Generation

3. # Third Generation

4. ¥ Fifth Generation

Question Number : 8 Question Id : 2549897626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafied & @ ®F-3 dEeR Udl $HH fSH &1 SauRuN &1 START Sl 82

Options :




1. % refdid
2. % G’ Uit
3. % iR Uil
4. ¢ Uil digt

Question Number : 9 Question Id : 25498929961 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The popular mechanism of recognising the identity of a living person based on a physiological or behavioral characteristic is:
Options :

1. ¥ biometric device

2. % automatic device

3. #® audiometric device

4. % videometric device

Question Number : 9 Question Id : 25498929961 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FIfe! (IRNF) TT WHIT (FIdeR Tath) favar & MR wR sifad sufed &) uge & fie 3 R R &1 H ot 919 areft 933 T
B gl 82

Options :

1. ¢ IEOHfCH IUHRI

2. % TATfId SUBRI

3. % Jfifeamfces Iusmur

4. % gifeAAfied IUBHU

Question Number : 10 Question Id : 25498930212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the wavelength of a Blu-ray Disc?
Options :



1. ¥ 405 nm
2. % 650 nm
3. % 600 nm
4. % 780 nm

Question Number : 10 Question Id : 25498930212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

X &% &1 Jaay @oreed) fha grarg?
Options :

1. ¥ 405 nm

2. % 650 nm

3. % 600 nm

4. % 780 nm

Question Number : 11 Question Id : 25498930638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the responsibility of the Logical Unit in the CPU of a computer?
Options :

1. ¥ Comparing numbers

2. # Printing result

3. % Controlling flow of information

4. # Controlling flow of data

Question Number : 11 Question Id : 25498930638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HEeR P CPU H AlTbd gfe HT o1 BT Bidl 82
Options :

1. ¢ G131 B a1 DAl



2. % gRUmA &
3. #% Il o YdIg & fARd w1
4. % ST P YdTg Pl MIRT BT

Question Number : 12 Question Id : 25498930704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A blog is a type of

Options :

1. # Web browser

2. # Stage

3. #® Layer

4. ¥ Website

Question Number : 12 Question Id : 25498930704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SIS UPR BB gl
Options :

|. % 99 TSR

2. % Wl

3. % AW

4. ¢ d§9T3C

Question Number : 13 Question Id : 25498933174 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Nibble interleaving or multiplexing takes a from a lower-speed channel as input for a multiplexed signal on a higher-speed channel.
Options :

1. ¥ nibble

2. % byte



3. % word

4. % dword

Question Number : 13 Question Id : 25498933174 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
gwmﬁﬂma@%qmﬁ@mﬁ?ﬂa%mmdg%wm%mw$wﬁ,wéﬁmﬁl€%ﬂaﬁ fora e
|

Options :
1. ¢ (Aga
2. % dIgc
3. % 98
4. % gaie

Question Number : 14 Question Id : 25498933725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is a non-invasive imaging technology using magnetic fields that produces three dimensional detailed anatomical images used for disease
detection, diagnosis and treatment monitoring called?

Options :

1. ® ECG

2. % X-Ray

3. % Magnetic Resonance Imaging (MRI)
4. % Ultrasound

Question Number : 14 Question Id : 25498933725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DT &F BT SUTNT HRA aTel T TR-ZTARIT SHRHT ddh-1e o1 HEald] & St INT BT Ul a1, g SR IR & PRI 8g SuahT
T ST aTet ot ATt favgd AReHTeT® Siaa! (images) BT SdTG BT 82

Options :

1. % SIS (ECG)




2. % TRIX (X-Ray)
3. ¥ DY 3G SHIST (MRI)

4, ® 31@@”3'3 (Ultrasound)

Question Number : 15 Question Id : 25498933811 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the colour depth of a graphics card to generate true colour?
Options :

1. * 4bit

2. % 8bit

3. ® 16 bit

4. ¥ 24 bit

Question Number : 15 Question Id : 25498933811 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IR W ITF B b (o UM BTe Bl HeR S fba-T gidt 82
Options :

1. % 4fqe

2. % gfac

3. % 16fdc

4. 241d¢

Question Number : 16 Question Id : 2549896193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS Word, a character that is raised and is smaller above the baseline is known as:
Options :

1. # Raised

2. ¥ Superscript



3. ¥ UPPERCASE

4. % lowercase

Question Number : 16 Question Id : 2549896193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word H, Ueb g (Hae) Sit SR AT Y SR I3T 81aT § 3R BT 81T 8, I 37 el Sl &2
Options :

1. % 3E58 (Raised)

2.9 W (Superscript)

3. % 3[0RHY (UPPERCASE)

4, % ABRDY (lowercase)

Question Number : 17 Question Id : 2549896194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The enables your computer to connect to other computers or to the internet.
Options :

1. # video card

2. % sound card

3. % network interface card (NIC)

4. % controller card

Question Number : 17 Question Id : 2549896194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3D SR P 3 SR 1 fR FerAe U Siie H Heg wral gl
Options :

1. % fafed wre

2. % GIEE BIS

3. ¢ 9edm 3By HIS (NIC)




4. % HAR Pl

Question Number : 18 Question Id : 2549896256 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is when the more power-hungry components, such as the monitor and the hard drive, are put in idle.
Options :
1. # Log off
2. % Power down
3. ¥ Standby mode

4. # The shutdown procedure

Question Number : 18 Question Id : 2549896256 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A9l g, 9 G $el B Jud a1 e, oY 3 Aifer a1 318 g4, 96 US 9 6|
Options :

1. % ST 3Mh

2. % (AR 834

3. ¥ LI TS

4. % SIS bl Ufchar

Question Number : 19 Question Id : 2549897907 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

C++, a programming language that supports Object Oriented Programming, was developed by
Options :

1. ¥ Bjarne Stroustrup

2. # Pito Salas

3. # Linus Torvald

4. % Guiddo Von Rossum



Question Number : 19 Question Id : 2549897907 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

C-++, T T HIWT &, St Sffsaide SfiRUcs U &l JuId Sl s, R fadbiid ot 713 AT
Options :

1. ¢ o Tl

2. % fuel wremra

3. % T CRdAleeY

4. % TS A IgH

Question Number : 20 Question Id : 2549898198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In terms of computer security, ANI stands for:
Options :

1. ¥ Automatic Number Identification

2. #® Auto Notification Information

3. ¥ Auto Number Information

4. % Auto Name Information

Question Number : 20 Question Id : 2549898198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HX JR&f & Yy T, ANI &1 QU1 &9 &1 82
Options :

1. ¢ Sfferifes d8R W@Wﬂ (Automatic Number Identification)
2. % 3ficl AeflhbrE gﬁﬁ-‘?ﬂ (Auto Notification Information)

3, % 3ffel AaR W\Iﬁgﬂ (Auto Number Information)

4. % 3ty E'Q'T\Ilﬁﬂ:f (Auto Name Information)



Question Number : 21 Question Id : 2549898562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which file format is used to save a video file?
Options :

1. ®* mp3

2.9 avi

3. % Jpg

4. # ec3

Question Number : 21 Question Id : 2549898562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST BIsd I ¥a B & (oL ol BIsd Wi BT SUANT o ST 52
Options :

1. % mp3

2. % avi

3. % Jpg

4. % ec3

Question Number : 22 Question Id : 2549898888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When we start our computer, is the first software that runs.
Options :

1. ¥ BIOS

2. % CD

3. % HDD

4. % FDD

Question Number : 22 Question Id : 2549898888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Od 81 3T H LR L= B 6, al da- aral Ugdl Jreair G
Options :

1. ¢ BIOS

2. % CD

3. % HDD

4. % FDD

Question Number : 23 Question Id : 2549899419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Where is the print option in menu bar of MS Word located?
Options :

1. # Insert — Print

2. ¥ File — Print

3. % Home — Print

4. % Data — Print

Question Number : 23 Question Id : 2549899419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word & B aR ¥ fife faewey el fRud g2
Options :

1. *% Insert — Print

2. ¥ File — Print

3. % Home — Print

4. % Data — Print

Question Number : 24 Question Id : 2549899555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT the interface to connect the printer?



Options :

1. ¥ USB

2. # Wi-Fi

3. ¥ Fibre optics
4. # Serial port

Question Number : 24 Question Id : 2549899555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

flier 1 TAITd B3 & o g § A o I S gl 82
Options :

1. % gUYH! (USB)

2. ® TR-BTS (Wi-Fi)

3. ¥ ThIgd} e (Fibre optics)

4. % Gfga urd (Serial port)

Question Number : 25 Question Id : 25498910814 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is a line printer?
Options :

1. # Dot-matrix printer

2. % Ink-jet printer

3. % Drum printer

4. % Laser jet printer

Question Number : 25 Question Id : 25498910814 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

faferiRad 7 9 o a1 a1 file 82

Options :



1. ® Sfc Afew fifex
2. % Sepolc fUex

3. ¢ gl

4, % SoR e fifer

Question Number : 26 Question Id : 25498911609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the smallest visual element that can be displayed and represented on a digital display device?
Options :

1. ¥ Pixel

2. # Resistor

3. # Bit

4. % Circuit

Question Number : 26 Question Id : 25498911609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafoRed # I S1H-91 9ad Bl 2% dd ¢ o fSfred fewa feargy R uelRia aur fefia fasar s gewar g2
Options :

1. ¢ fUed

2. % IR

3. % fge

4. % glde

Question Number : 27 Question Id : 25498913375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which generations of computer Vaccum Tubes was used?
Options :

1. % Fifth



2. ¥ First
3. ® Third
4. % Fourth

Question Number : 27 Question Id : 25498913375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Wﬁmmﬁwm (Vaccum Tubes) &1 JTART a1 ST U1?
Options :

1. % gied!

2. ¢ gl

3. % R

4. % R

Question Number : 28 Question Id : 25498918422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is a default printer?

Options :

1. ¥ It is a printer that prints all the jobs unless another printer is specified by the user.
2. # It is a printer that prints specific jobs unless another printer is specified by the user.
3. % Itis a printer that prints all the jobs and user cannot change the printer.

4. ® Tt is a special printer designed for special purposes.

Question Number : 28 Question Id : 25498918422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fSwice flier T 82

Options :

1. ¢ gfe ITANTHdl gRT fdt 3= fifex &1 FAfEy 7 fovan an €1 < 1@ fliex it &l (Siten) &1 gt (ftfe) a3
2. % g IuATeHd! gRT fplt 3= fifer 1 fAfy 7 foan mar €Y <t gg fiiex foRiw wraf (Sife) &1 g (fife) axar 8|




3. % g 9t Sl &1 U1 HRdl & 3R STANRTeR ! e dad Ao qebd|
4. % 7g fafry Ig=g @ o= a1 v fafdrp fifex B

Question Number : 29 Question Id : 25498918426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Printer is a/an device:
Options :

1. # input

2. ¥ output

3. # network interface

4. # internet provider

Question Number : 29 Question Id : 25498918426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fifex Tt SUF |
Options :

1. # 31Yc

2. ¥ 3H3cYcC

3. % STqd Sexhy

4, % T YIAIgSY

Question Number : 30 Question Id : 25498918572 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Red Hat Enterprise Linux, which of the following two partitions are among the recommended ones?
Options :

1. % Swap and Main

2. % Root and Swap

3. # Root and System



4. ¥ Main and System

Question Number : 30 Question Id : 25498918572 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Red Hat Enterprise Linux # fFofafed § @ oH 9 & urdfeq G‘HQT@I_VT T gid 82
Options :

1. % W9 3R T

2. ¥ T IR WY

3. % ¢ R Ren

4. % T 3R Rey

Question Number : 31 Question Id : 2549896222 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the communication protocol that sets the standard used by every computer that accesses Web-based information?
Options :

1. ¥ XML

2. % DML

3. ¥ HTTP

4, ¥ HTML

Question Number : 31 Question Id : 2549896222 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9 T ¥ HH-91 TR WIHhid g Sl 98- THBRI DI TR HRA ald Tdd SR gRT ITANT [l S a1 A &1 e BT 82
Options :

1. % XML

2. % DML

3. ¢ HTTP

4. % HTML




Question Number : 32 Question Id : 2549896627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The program that you run on the computer is first transferred to which memory before it is actually run?
Options :

1. % Auxiliary memory

2. % Primary memory

3. # Secondary memory

4. # Tertiary memory

Question Number : 32 Question Id : 2549896627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HER W XA BT S aTe UIIH &1 aRdd J 37 & 3 Ugd 9 H 9 forg BART § ARG faar S g2
Options :

1. % G- HAR

2.« UIYfHe HART

3. % fgdtue AR

4. % gdgd TART

Question Number : 33 Question Id : 2549896985 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Most mail programs automatically complete the following two parts in an e-mail:
Options :

1. # From: and Body:

2. % From: and Date:

3. # From: and To:

4. # From: and Subject:

Question Number : 33 Question Id : 2549896985 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

31T A URH 3-Adt § Tanferd =0 § Fafofad # fbg & yill ) Q-1 va 32
Options :

1. # From: GﬁTBody:

2. ¢ From: 3IR Date:

3. % From: 3R To:

4. % From: 3R Subject:

Question Number : 34 Question Id : 2549897164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is a library of public domain works.
Options :
1. # Wikilib
2. % Wikihouse
3. % Wikisource
4. ¥ Wikihome

Question Number : 34 Question Id : 2549897164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. # fafebfere

2. ® fafbgrad

3. ¢ fafead

4. % fafem

Question Number : 35 Question Id : 2549897408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

By using which option can one add a heading in an MS-Word 2013 document?
Options :

1. ¥ Styles

2. #* Font

3. # Paragraph

4. # Clipboard

Question Number : 35 Question Id : 2549897408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2013 SiaHe ¥, {5y fawed &1 IUTN b Dl e B oS Tohdl 72
Options :

1. ¥ KR

2. % g

3. % IR

4. % fuers

Question Number : 36 Question Id : 2549897870 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following sections does NOT exist in the Home tab in MS-PowerPoint 2013?
Options :

1. # Clipboard

2. % Lists

3. * Font

4. % Paragraph

Question Number : 36 Question Id : 2549897870 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-PowerPoint 2013 ﬁ, E'-Tq %_d H ﬁ'{;[ e ﬁ?&ﬂ S{JHNT IﬁGE'{ qﬁ%‘?



Options :
1. % fFquars
2. ¢ fore
3. % IuC
4. % IRUH

Question Number : 37 Question Id : 2549898121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which statement is INCORRECT in case of doughnut chart in MS Excel?

Options :

1. ® It shows the relationship of the parts to a whole.

2. % Because of their circular nature, doughnut charts are not easy to read.
3. # It displays the data in rings, where each ring represents a data series.

4. ¥ It is used to illustrate the fluctuation of stock prices.

Question Number : 37 Question Id : 2549898121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excelﬁ?a:]—"l_cr(doughnut)ﬂﬁ%qmﬁmﬁ@ﬁ—w $’<’FTTIFH%?
Options :

1. % gg qof & Y} 1 Yey g2 2

2. % I% qRITG UH (A & HRUI, SIHC A1C Bl UgHT M Tl il g

3. % gg ST ol T § uefRid &l g, S8l Ud® 71 Ud SeT 417dl &l FRefud &l g
4. ¥ 3BT IUAN Wb D! B H IAR-IET I S & e fpar rar g |

Question Number : 38 Question Id : 25498910530 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
MS-Word gives you two ways to set the options to change the page size: through the ribbon menus and
Options :



1. ¥ dialog boxes
2. * text boxes
3. #* list boxes

4. * radio buttons

Question Number : 38 Question Id : 25498910530 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 30! Ul THR FGa & oY fadwhedl dI U HR- g &l i UeH IRl 6: RET AR FAw |
Options :

1. ¢ S Sl

2. % CHRC gl

3. % fore SR

4. % & g

Question Number : 39 Question Id : 25498910603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What do you understand by line spacing?

Options :

1. % Tt describes about the width of the characters.

2. % Tt is a fixed unit of measurement representing the height of characters.
3. ¥ It refers to the distance between the baselines of each line of text.

4. # Tt is a representation of dots.

Question Number : 39 Question Id : 25498910603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
AT WRAT oY 1 gHeAd 62

Options :

1. % gg au bl ASTs & IR H FdTdT 5|



2. % g qUIl 1 SHaTS A Tid R aTell H1T ) Ueb FIfEd 37 B
3. ¢ U8 YA CRC WIS &1 SR W31 & oI d Bl gl DI e id dar gl
4. % 7g fdgafi w1 =T 3|

Question Number : 40 Question Id : 25498911439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2010, if you type the word 'wednesday' it would automatically change it to "Wednesday'. To control this behavior in Word, the steps
are given below in a jumbled order. Arrange them in a proper order.

1. Make sure the AutoCorrect tab is selected.
2. Choose AutoCorrect (AutoCorrect Options in some versions of Word) from the Tools menu. Word displays the AutoCorrect dialog box.

3. Select or deselect the Capitalize Names of Days check box, depending on whether you want Word to automatically capitalise for you.
4. Click on OK.

Options :

1.92.1,3,4
2.%2.1,4,3
3.%2.3,1,4
4. % 1,2,3,4

Question Number : 40 Question Id : 25498911439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2010 ff, gfe MY 'wednesday' Rl CIQU HId %, aﬂgmﬁﬁwa'Wednesday'ﬁWWI Wordﬁ%ﬂwaﬁﬁ'qﬁﬁ
TR & o, gt oRuT srafyd % H U § | I8 Sfod HH H afeyd &1 |

1. gFAfa &% o ofie) e ¢d T g |

2. T T SIS dXae (Word & & TRDHRUN H SIc] HRae fadhed) I | Word SHTe! Hide AT diay UG RId dxal g |

;%Wordwmmﬁ 3 forT Hfearss B a1 T8, 39 YR TR &7 & A4 &) BUATSH B & AP S B TUT B I I I
|

4. 31 R fadis B |

Options :

1.¥ 2,134

2. %2143




3.% 2314
4. % 1,234

Question Number : 41 Question Id : 25498911818 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a sequence of instructions written using a computer programming language to perform a specified task by the
computer?

Options :

1. # Algorithm
2. % Pseudo code
3. #* Flow chart

4. % Computer program

Question Number : 41 Question Id : 25498911818 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 3fATRYH
2. % YSIPple
3. % T e

4. ¢ SR WU

Question Number : 42 Question Id : 25498911901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To select or clear all check boxes for all reviewers in the list of Show Markup, click the feature in MS-Word 2016.
Options :

1. # comments

2. # insertions and deletions

3. % all reviewers



4. % no reviewers

Question Number : 42 Question Id : 25498911901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

M AT 3T aﬁﬁ?ﬁ o gyt e o fow gyt 9% dieg ! g-ﬁ (select) T R (clear) A D feTT, MS-Word 2016 | TR IR
EREZCRY

Options :

1. % HUcY

2. % UM SR fEaiiem

3. ¢ 3fld Rgsr

4. % N RG3R

Question Number : 43 Question Id : 25498911923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

We can manually select the spacing of the columns by clicking the option in the columns drop down menu in MS-Word 2013.
Options :

1. # Customize columns

2. ¥ More columns

3. % Control columns

4. * Insert columns

Question Number : 43 Question Id : 25498911923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2013 H Sl gIU B3 A H It IR foRieh P §H DI b1 WRAT B HG3fel U H I Fbd g
Options :

1. % HCHRS HIdH

2. ¢ AR dhiad

3. % Peld dlad




4, % 3¢ HIaH

Question Number : 44 Question Id : 25498911951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Rebecca is working on an MS-Word 2003 document. In order to enable the gutter between the columns, she has to choose from the Page
Layout tab.

Options :

1. ¥ columns
2. # gutter
3. % tab

4. % space

Question Number : 44 Question Id : 25498911951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

?;TT[MS Word 2003 SIFRIHE TR HTH HR I8! & | HIAH & ard B 7TeR (gutter) DI 37T HRA & ol I TS Q33T ¢F I CAREREl
|

Options :

1. ¢ BldH

2. # JIcX (gutter)
3. % g

4. % WY

Question Number : 45 Question Id : 25498913318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a software that is used to write computer programs?
Options :

1. # Interpreter

2. % Compiler

3. % Text editor



4. * Debugger

Question Number : 45 Question Id : 25498913318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® YR

2. % hHQeR

3. ¥ TR TSR

4. % IR

Question Number : 46 Question Id : 25498919148 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The given icon is present in the group in the mailing tab in MS-Word 2007.

Select
Recipients ~
Options :
1. # Create
2. ¥ Start mail merge
3. % Preview result
4. % Finish

Question Number : 46 Question Id : 25498919148 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2007 H 1 e 7 g1 Afch X8 & fhy T & Aiv[g 38dl 82




&
Select
Recipients ~
Options :
1. % fobUT (Create)
2. ¢ @I Ad 79 (Start mail merge)
3. % T ReleT (Preview result)
4. % {0 (Finish)

Question Number : 47 Question Id : 25498919222 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The given icon is displayed when the radio button is enabled in the third step of mail merging the letter in MS-Word 2016.
u_- Select Data Source b
= w o » ThisPC » Desktop » Ad Works > & o
Organize « Mew folder - o | g

A "
J &
#F Quick sccess

I Desktcp ¢ B AdWorks Letter ; Microsoft Word
& Downloads o B AdWorks_Recipients L\ 12711415 10:00 AM Microsofi Excel Woak
% Documents o
B Music ’
| Pictures
. Wedeos  w »
New Jource...
File pame | AdWorks_Recwpients w | AN Dats Sounces s

Options :

1. ¢ Use Existing List

2. % Select from Outlook Contacts
3. # Type New List



4. ® Import the List

Question Number : 47 Question Id : 25498919222 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%/[S-Word 2016 H, SRIG 3MSH ad Ui gdT & d der &t Ad AfHT (merging) & TR TR H &t geq TEa (enabled) grar
I

u_ Select Dhata Source b
“ ) This PC Desktop » Ad Works
Organige = Mew fobder - 1 8
ey

i Cuick secess

B Desktop 2 AdWorks Letter

J Downloads 0" AdWorks_Recipsents I

Documents

By Music

&= Pectures

' Vedeos o x >

New jource...
Fide pame | AdWorks_Recspents AR Data Sources

Options :

1.« HIS[aT et BT YA B (Use Existing List)

2. % T3P TTD! B! g (Select from Outlook Contacts)
3. % Th :ré ﬁiﬁ EL K (Type New List)

4, ® w SHE B (Import the List)

Question Number : 48 Question Id : 25498919249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2016, if we want to change the rotation options during printing of an envelope in the mail merge process, here are the steps.
Fill the '?" with a suitable answer.



?

Create

Envelope options
Printing options
Clockwise rotation
Options :

1. ¥ Mailings

2. % References
3. ®* Page Layout
4. % Design

Question Number : 48 Question Id : 25498919249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
MS-Word 2016 H, Tf& 81 AT TSl (merge) TohaT & fawsrs o fiifT o SR A3 fadheul ! daa1 d18d & df 39 forg fFRafaRad avor

gl
7' D1 IUGed IR & 1Y W |

o
L

[t te] lad Y
fifde fasey
f&omad guiA
Options :

1. ¢ Hie

2. % YBIY
3. % U9 d3(13C
4. % f&oeA

Question Number : 49 Question Id : 25498924869 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
are useful for quickly creating unweighted cross tabulations in MS-Excel.



Options :

1. ¥ Macros

2. # Charts

3. % Functions
4. ¥ Pivot tables

Question Number : 49 Question Id : 25498924869 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel H, . YR 1 CARH Pl STea] ¥ I & o STIRT gl
Options :

1. % Hep!

2. % 91¢

3. % TRy

4. ¢ fUge ¢o™

Question Number : 50 Question Id : 25498925511 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following are NOT commonly formatted as superscript?
Options :

1. # Ordinal numerals

2. ® Copyright symbols

3. ¥ Chemical sysmbols

4. ¥ Icons

Question Number : 50 Question Id : 25498925511 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :




1. # 3ffSTa TR
2. % PHIURZe R
3. % PP Rdice
4. ¢ 3ISH14

Question Number : 51 Question Id : 25498932138 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the following statement carefully and choose the appropriate option.

Videoconferencing involves the use of video cameras connected to two or more computers.
Options :

1. ¥ True

2. % False

3. % May be

4. % Can’t determine

Question Number : 51 Question Id : 25498932138 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FEfEd HU= &1 &I 9 U SR Sugad faded 9|
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Options :

1. ¥ g

2. % 3O

3. % Halfad

4. % YR 78T A b

Question Number : 52 Question Id : 25498934489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A circuit board through which all the components of a computer communicate is called the:
Options :

1. #¥ Central Processing Unit

2. % Graphic Processing Unit

3. ¥ motherboard

4. % Random Access Memory

Question Number : 52 Question Id : 25498934489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TH Tidhe Sis e A1 J HEeR & U Uch TaR Id &, Hedadl o
Options :

1. % Yoo R gfe

2. % Ylithes TRIRIT g

3. ¥ HeRES

4. % {SU TRN TOR

READING COMPREHENSION

Section Id : 2549895502
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895543

Question Shuffling Allowed : Yes



Question Id : 25498920839 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Question Numbers : (53 to 57)
Read the given passage and answer the questions.

Keep your Dream

This is the story of a boy named Monty Roberts, who owns a horse ranch in San Ysidro. He was the son of an itinerant horse trainer who would
go from stable to stable, race track to race track, farm to farm and ranch to ranch, training horses. As a result, the boy’s high school career was
continually interrupted.

When he was a senior, he was asked to write a paper about what he wanted to be and do when he grew up. That night he wrote a seven page-
paper about his dream in great detail and he even drew a diagram of a 200-acre ranch, showing the location of all the buildings, stables and the
track. Then he drew a detailed floor plan for a 4,000 square foot house that would sit on a 200 acre dream ranch.

He put a great deal of his heart into the project and the next day he handed it in to his teacher. Two days later he received his paper back. On the
front page was a large red F with a note that read, ‘See me after class.' The boy with the dream went to see the teacher after class and asked,
‘Why did I get an F ?°. The teacher said, ‘This is an unrealistic dream for a young boy like you. You have no money, no resources. Owning a
horse ranch requires a lot of money. You have to buy the land, pay for the original breeding stock and pay large stud fees. There is no way you
could ever do it. If you rewrite this paper with a more realistic goal, I will reconsider your grade’.

The boy went home and thought about it long and hard. He consulted his father as well. Finally, after sitting with it for a week, the boy turned in
the same paper, making no changes at all. He told the teacher, ‘You can keep the F and I will keep my dream....’

Time passed. One summer the same school teacher brought 30 kids to camp out on Monty’s ranch for a week and while leaving the teacher said,
‘Look Monty, I can tell you this now. When I was your teacher, I feel like I stole a lot of kids’ dreams. Fortunately, you were brave, had strong
will power and therefore succeeded.'

Sub questions

Question Number : 53 Question Id : 25498920840 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What interrupted Monty's school education?
Options :

1. # Lack of sufficient money.

2. % His father's sudden illness.



3. ¥ The itinerant nature of his father's job.
4. # TInability to join a good school.

Question Number : 54 Question Id : 25498920841 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What did Monty want to do when he grew up?
Options :

1. #® Be an expert horse trainer like his father.
2. % Own a 200 acre horse ranch.

3. % Be a veterinary surgeon.

4. % Own a 200 acre farmland.

Question Number : 55 Question Id : 25498920842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What does the detailed seven page assignment indicate about Monty?
Options :

1. ¥ Monty's intense passion about his ambition.

2. ® His love for open fields and stables.

3. % His desire to be a jockey.

4. ¥ His wish to be an excellent horse-breeder.

Question Number : 56 Question Id : 25498920843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Why did his teacher give Monty such a poor grade?

Options :

1. ¥ She thought that he was being very unrealistic and unaware of the enormous costs involved.
2. % She wanted to nip in the bud his desire to be a ranch owner.

3. % She considered it her duty to tell him the truth.

4. % She especially enjoyed destroying the dream of others.



Question Number : 57 Question Id : 25498920844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What did the teacher learn from Monty?

Options :

1. % It is rude to kill other people's dream.

2. % Money is not the only ingredient for success.

3. % Persistence and self-confidence are as important as money.

4. % One must have a dream to live for.

Question Id : 25498920839 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)

faQ 7T T Y U SR ISP SMUR WU &6 IR 2 |
3T U] I gol B W

g Ui AT 1 & Th A8 ! B! o, SNl A7 TRIG T SRS &1 HIfeidh ¢ | 98 T JMTaR U1 & =R &1 I U7 o st o) ufiférd
PR F I O STt § GO SRAad, 39 o B, Y91 & a1 Bl T ST 1| TSI, TS 1 8T Wl BRI AR S gof|

9 g8 IR o1, ) 39 T O & Tg fora & o o1 a1 U7 o a8 9181 SR ol 9491 <1 dll & | 39 Id I 39 Ju+1 & IR § I1d
Ot ¥ foaR ydep ferar- ues fawga faaror & S99 200 TS & sRaed o fod v, fored it fafed™, sraed ok ¢ o1 wiH fa@mn
gﬂ;"wﬁﬂwﬁ@4,oooaﬁw$m%mwﬁwu@?mw,ﬁzoomﬁ@ﬁﬁ%WW%&%ﬁW

|

3811 3Y URAIGHT & IR H R TH ¥ fobdl SR oiTal &1 I51H 38 3o Rigreh &1 iy f&a| < & 918 38 3o 9uR argy e
A aTel g8 TR A1 1 8 U o121 AT U forar o1 3R W1 § U e T g3 Ul el & a1G Gord el |' a8 g & 91 30+ <R
3 e T SR UBT, go U od| fhe Rieie - g1, g 31U oI gaT ded & [o1E U SaRdidd JU-1 g | 3 O UNTT 181 6, Dl
T TR § | SRASd o HIKIdh o TN 9gd U1 g1 AR | AT ST WRIGH! &, T et T b 1o1d YT HR1 § 3R 31w s
I T YA BT & | T BIs aIdbT Tal ¢ 1o 30 38 ST ot % b | IS 3110 39 TR # $iR gurfarc dedi o iR 4 ferad €, v o
3P IS & IR H AGAR BT |

TSI TR AT 3R b IR H dgd o b el | I 3 fUeh A +f 59 IR H efrg A=A foban| 3fd H, T Iwaig faaR 3 & aTe,
I I IR T 9¢aATd T8} {1 | 39 e J HgT, 311U 3T TH TF Tohd & AR & ot 30 T &l T8 < TGm...!




gad Fed | T § I3 Whd & RIgd 30 I DI TH g & g Hil & SRasd IR o T4 3R R1ed = Sd 9699 $al, dit 38
T G, T HD! T8 o1 Tl § b o1d H JWeRT I8 T, T AT § b T4 9gd IR S & 991 & g1 fordm | Jryma 3, TH S8TgR 9,
3T Yed 35T Ui 819 & HRUI FFRT JUAT JTHR AT

Sub questions

Question Number : 53 Question Id : 25498920840 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A< B TH o 1R1e o T 1T 31152
Options :

1. % U &I S|

2. % JAD U B SATh SR |

3. ¢ 30 fUar & i<t & IR UPHid |
4. % 3w WA | A g H Sryaefdrl

Question Number : 54 Question Id : 25498920841 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 30 fUdT Pt RE & AR (TRTUS) B <R §=11 =rea |
2.9 200 Udh g AHIJAAT hl B ISCSEE dledl YTl

3. % O] foforea o &= aTgd T

4. % 200 Ths DY YH BT Hlfelds ST T8 UT|

Question Number : 55 Question Id : 25498920842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 56 Question Id : 25498920843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 25498920844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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QUANTITATIVE APTITUDE
Section Id : 2549895503
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6

Section Marks : 6



Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895544
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498914198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

24 men can complete a piece of work in 15 days. 2 days after the 24 men started working, 4 men left the work. How many more days will the
remaining men take to complete the remaining work?

Options :
152 days
1. ¢ S

16‘—_L days
1 1% days

l'[]‘—_L days

Question Number : 58 Question Id : 25498914198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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4. ® g

Question Number : 59 Question Id : 25498914243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

There are two numbers such that the sum of twice the first number and thrice the second numbers is 100 and the sum of
thrice the first number and twice the second number is 120. Which is the larger number?

Options :
1.« 32

Question Number : 59 Question Id : 25498914243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ﬁmsﬂmﬁﬁ?wm#ﬂﬁaﬂ?@ﬂeﬁméﬁﬁﬁ T FT AETH 100 & 3T 9ger
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Options :
1. v 32

5 x 12
;% 14

4, % 35

Question Number : 60 Question Id : 25498914265 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What should come in place of the question mark (?) in the following question?

6561+ (10.8 x 2.5)+=3="7
Options :

-

1. % 27

4. 8l

Question Number : 60 Question Id : 25498914265 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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6561 = (10.8 x2.5)+3=7
Options :
1 % 27

) % b4
3 % 72

4. v 81

Question Number : 61 Question Id : 25498914311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

There are two circles of different radii. The area of square is 196 sq cm. whose side is half the radius of larger circle.
The radius of the smaller circle is three-seventh that of the larger circle. What is the circumference of the smaller circle?

Options :
1 % 12mcem
) ® lémem

3 o 24 mTem

4 % 32mem

Question Number : 61 Question Id : 25498914311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1 % 12mem

) ® lémem
3 o 24mem

4 % 32mem

Question Number : 62 Question Id : 25498914338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What will come in place of question mark (?) in the following question?

V31.36 +0.64 X 252 = (2)? X 36

Options :
1. % 81

2. % 64
3, % —8

-

4.¢ 1

Question Number : 62 Question Id : 25498914338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

T=afof@T e & eF REa (?) F TUT 9 FIT HT?

V31.36 +4/0.64 x 252 = (?)?x 36
Options :
1 = 81

) = 64

3. % —8

4. 7

Question Number : 63 Question Id : 25498929166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A sum of 7,000 is divided among X, Y, Z in a manner that the shares of X and Y are in the ratio 2 : 3 and those of Y and

Z are in the ratio 4 : 5. The share of Y is:
Options :

| %2400

) ® Z 3.000

3 % Z 1.600

4 % 22,000



Question Number : 63 Question Id : 25498929166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
| v T 2,400

, = % 3,000
L % T 1,600

, = % 2,000

GENERAL MENTAL ABILITY AND REASONING

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Display Number Panel :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

2549895504
4

Online
Mandatory
6

6

6

Yes

Yes

0

1
2549895545
Yes



Question Number : 64 Question Id : 25498910043 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following words will come second if all of them are arranged alphabetically as in a dictionary?
Options :

1. # Biscuits

2. ¥ Bifurcate

3. % Bicycle

4. % Bitter

Question Number : 64 Question Id : 25498910043 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. * Biscuits

2. ¥ Bifurcate

3. % Bicycle

4. % Bitter

Question Number : 65 Question Id : 25498910127 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third term in the same way as the second term is related to the first term.

Furniture : Wood :: Cloth : ?
Options :

1. # Costume

2. * Dress

3. # Tailor

4. % Fabric



Question Number : 65 Question Id : 25498910127 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Pieegd

2. % 39

3. % qoif

4. ¥ HUG]

Question Number : 66 Question Id : 25498912837 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Instruction: Study the following arrangement of letters, digits and symbols to answer the question given below.

19AF=$25RIL3@YME68*+DF4BH70©

Question: How many such symbols are there in the above arrangement each of which is either immediately followed by a number or immediately
preceded by a letter?

Options :
1. #* One
2. * Two
3. ¥ Three

4. # Four

Question Number : 66 Question Id : 25498912837 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % T&H

2. % q

3. ¢ T

4. % IR

Question Number : 67 Question Id : 25498912897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find out which of the letter-series follows the given rule:

Number of letters skipped in between adjacent letters in the series is in the order of 17, 22,32,
Options :

1. ¥ CEJT

2. % EGLO

3. # EGLP

4. % RTWZ

Question Number : 67 Question Id : 25498912897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ul A1 fob DM Tt 3H&R-gae feU 7T 99 &1 Ui &l o

gEar § Fidbeddl 31&RI & 49 H Sl T4 HeRl & 98, 12,22,32 H HA 4 8l
Options :

1. ¥ CEJT

2. ¥ EGLO

3. % EGLP

4. ¥ RTWZ



Question Number : 68 Question Id : 25498919653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question, some words are given which are related in some way. The same relationship is there obtains among the words in one of
the four alternatives given under it. Select the appropriate option.

Horse : Foal : Mare
Options :

1. * Sheep : Lamp : Goat
2. % Lion : Cub : Den

3. % Man : Child : House
4. % Bull : Calf: Cow

Question Number : 68 Question Id : 25498919653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Horse : Foal : Mare
Options :

1. # Sheep : Lamp : Goat
2. % Lion : Cub : Den

3. % Man : Child : House
4. Bull : Calf: Cow

Question Number : 69 Question Id : 25498919725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Mr. Johnson was to earn X 300 and a free holiday for seven weeks’ work. He worked for only 4 weeks and earned X 30 and free holiday. What
was the value of the holiday?

Options :



1. ® X300
2. %3330
3. #3360
4. % %420

Question Number : 69 Question Id : 25498919725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. #3300
2. ¥ %330
3. ®# %360
4. % 3420

GENERAL AWARENESS
Section Id : 2549895505
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895546

Question Shuffling Allowed : Yes



Question Number : 70 Question Id : 2549895244 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
“Invisible export” means export of:
Options :

1. ¥ services

2. % prohibited goods

3. * unrecorded goods

4. % goods through smuggling

Question Number : 70 Question Id : 2549895244 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
"3rexd Fafar o1 o o g

Options :

1. ¢ Hareff & fafd

2. % yfqeferd aegasil o Faid

3. % for1 Rere @1 axgsii &1 fFafd

4. % T b AIHH J qeg3f &1 (gt

Question Number : 71 Question Id : 2549895287 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What are the terms ‘Nivi, Paridhan and Adhivasa' used for?
Options :

1. ¥ Different types of garments of the Aryans

2. % Government officials of the Aryan Kings

3. % Tribal people of Ancient Indians

4. % Musical instrument of Ancient Indians

Question Number : 71 Question Id : 2549895287 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ 374t & fafts YR & ¥l

2. % 3T IS & WPRT SHABRY

3. % YA YR & Sf1feared &

4. % YT HRATAT o7 STitd dTees

Question Number : 72 Question Id : 2549895401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Who is known as father of Zoology?
Options :

1. # Darwin

2. # Lamarck

3. % Aristotle

4. # Theophrastus

Question Number : 72 Question Id : 2549895401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % g4

2. % OHIH

3.9 3R]

4. % RgIhEeg

Question Number : 73 Question Id : 2549895961 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What did the Muslim deputation meet Lord Minto in 1906 at Shimla for? (under the leadership of Aga Khan)
Options :

1. ¥ Separate electorate for Muslims

2. % A composite Electorate

3. ¥ Higher representation of the Hindus

4. % Special representation of Muslims by nomination

Question Number : 73 Question Id : 2549895961 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e & 1906 # g ufaffEt = dfs fiiel ¥ garerd & @ dt? (31T WHE & @ H)
Options :

1. ¢ A & o8 gy Fara- &=

2. % TP Ygad fHarad &F

3. % fggafl @1 3= ufaffda

4. % AMHIH & gRI GUAHH! & [a=w ufdfAfda

Question Number : 74 Question Id : 2549899638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Per Capital Income of a country is derived from:
Options :

1. % National Income

2. % Population

3. % National Income and Population both

4. % Gross national income

Question Number : 74 Question Id : 2549899638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :



Question Number : 75 Question Id : 2549899649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The growth rate of Per Capita Income at current prices is higher than that of Per Capita Income at constant prices, because the latter takes into
account the rate of:

Options :

1. # growth of population

2. ¥ increases in price level
3. % growth in money supply

4. # increases in the wage rate

Question Number : 75 Question Id : 2549899649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % SFRRET Pt gfg

2. YA d TR A MG

3. % YRIRT &1 MY # gfs
4. % AU WA TG
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Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children have
fun during this process as they get to explore new arenas.
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Junk food simply means an empty calorie food. An empty calorie food is high calorie or calorie rich food which lacks in micronutrients
such as vitamins and minerals or amino acids but has high energy quotient. These foods do not contain the nutrients that our body needs
to stay healthy. Junk food is an informal term applied to some foods which are perceived to have little or no nutritional value but which
also have ingredients considered unhealthy when eaten regularly or to those considered unhealthy to consume at all. The term Junk food
was coined as slang term in the public interest by Michael Jacobson Director of the Centre for Science Washington DC. The terms fast
food and junk food are often used interchangeably. These foods contain high levels of refined sugar and polyunsaturated and trans fats.
Various food additives such as monosodium glutamate and tartrazine are also used. At the same time it is lacking in fibres among other
healthy attributes. These foods have little enzyme producing vitamins and minerals. Junk food culture has a vigorously uprising trend
among youngsters and it makes people eat without planning. They eat not only during preset mealtime but also in the leisure time. Junk
food seems convenient as it is very easy to prepare and consume. Generally junk food is given a very attractive appearance by adding
food additives and colours. These artificial additives and preservatives along with an enhanced flavour also guarantee a long shelf life of
the product. Common junk food includes fast food such as burgers and pizzas as well as aerated beverages. Heavily processed
ingredients of the junk foods make them addictive in nature and encourage binge eating which poses many health hazards. The
chemicals used in the packaging materials can seep into the meals. Multiple factors may influence the consumption of junk food. Studies
among adolescents suggest that marketing strategies and low prices all may play an influential role. It is known that food preferences
develop in childhood. These dietary behaviours continue into adulthood and increase the risks of chronic diseases later in life. The early
stages in the juvenility of teens represent a crucial period of transition in the overall human development. The total nutrient needs are
higher during this stage of growth than in any other stage of the life cycle. It is also the time when a boy or girl increases their social
interactions with their peers and develop different eating habits. It is a stage when they are least bothered about what they eat. Currently
fast food and junk food have expanded their sales in schools. For many students the day is not complete without observing the daily
ritual of visiting the junk food shop in and around the school premises. Awareness on junk food facts is lacking dramatically in every
corner of the society. Ninety percent of parents agree that junk food advertisements were making it difficult for them to promote healthy
eating at home. Messages for healthy eating are getting undermined at every turn by the relentless number of junk food advertisements.
Hence each and every individual parent needs to be educated about such foods and their impact on their children health that can take
care to avoid them intelligently and keeping them out of the reach of their children.
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